Glass Clamp — MOD 1201

MOD 1201 Flat

Part No. Indicate

1201 ] 1]

e

Surface Finish
Material

Fitting Pipeg

Eg. 1201.038.304.S

1201: MOD No.

038: Fittng Pipe®:38.1

304: Material 304 SS
S: Satin/M: Mirror

MOD No.

Note: If the Fittng Pipe® is 000, it means it’ s flat and the fitting pipe is square.

Accessories

304

45

Satin

28

16
20

45

Art. No Width| Glass thickness Screw Packing unit
1201. 000. 304. S| 28mm| Depend on the rubber inlay M8*20 4pcs
316 Satin
Art. No Width| Glass thickness Screw Packing unit S5
1201.000. 316. S| 28mm| Depend on the rubber inlay M8*20 4pcs

Hexagon socket countersunk head cap screw

e

{! K’: “ MOD Thread | Length | Packing unit
M6*16 M6 16mm 8pcs
Hexagon socket head cap screw @

g % MOD Thread | Length | Packing unit
M8*20 M8 20mm 4pcs

Rubber inlay & Glass

S

Single layer glass S2

Rubber MOD Glass thickness | Packing unit
1201-06 1/4"" (bmm) 8pcs
1201-08 5/16"" (8MM) 8pcs
1201-10 3/8"" (10MM) 8pcs

Rubber MOD

Glass thickness

Multilayer glass S5

Packing unit

1201-07

1/4" " (6. 76mm)

8pcs

1201-09

5/16"" (8. 76mm)

8pcs




